) dN/dy

NSD

(LN

Ratio to CMS

0.3

0.25

0.2

0.15

0.1

0.5

900 GeV pp

lY|(KOS) (NSD, y| < 2)

Rivet 3.1.10, = 400k events

B m CMS _
~ --0-- Pythia 6.428 345 7]
— £+ Pythia 6.428 346 —
—A— Pythia 6.428 370 B
— Pythia 6.428 default —
. —— Pythia 8.170 default _
_| | | | | | | | | | | | | L, , [ |_
:l T T T T | T T T T | T T T T | T |:
| BiivrrirBeces s f§eean > B TR - RSO~ N - D e ]
7\ AN 1,\ A 7 A Tl

| 1 1 1 1 " | 1 1 1 1 | 1 1 1 1 | " 1 " |

0 0.5 1 1.5 2

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


